Algebra 2







Name: _________________________
Unit 2, Day 5







Date: ______________ Period: _____

Day 5:  Arithmetic Sequences & Review Practice
Show all work and reasoning.  Use a pencil and highlight your answers.
	1.  For each arithmetic sequence, find the next three terms and determine the rule t(n).

	a)  3, 8, 13, ____, ____, ____

Rule:
	b)  –2, 9, 20, ____, ____, ____

Rule:
	c) –6, –10, –14, ____, ____, ____

Rule:

	d)  51, 44, 37, ____, ____, ____

Rule:
	e) 9.5, 11, 12.5, ____, ____, ____

Rule:
	f)  
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Rule:

	2.  Complete the tables and write the rule for each of the following arithmetic sequences.

	a)  

n

0

1

2

3

4

t(n)

9
24
Rule:
Given the sequence above, is the number 314 an output of the sequence?  Prove your answer.


	b)  

n

0

1

2

3

4

t(n)

7
–29
Rule:
Given the sequence above, is the number –568 an output of the sequence?  Prove your answer.



	3.  Answer the following:

	a)  Find the initial value, the common difference, and the equation for the arithmetic sequence when 
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	b)  Find the initial value, the common difference, and the equation for the arithmetic sequence when 
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	4.  Determine the equation of a line:  

	a)  With a slope of –3 & passing through (2, 5).


	b)  Passing through:  (–3, 5) and (2, –5).
	c)  m = 
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 & passing through (5, 4).



	d)  Passing through:  (1, 5) and (–3, –3).


	e)  Passing through:  (–4, –2) and (8, –5).
	f)  m = 
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	5.  Simplify each expression.  Assume all variables are nonzero.

	a)  
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	b)  
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	c)  
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	d)  
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	e)  
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	f)  
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	g)  
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	h)  
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	6.  Simplify.  Assume that all expressions are defined.  

	a)  
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	b)  
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	c)  
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	7.  Factor completely.

	a)  
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	8.  Investigate the function 
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.  Use this checklist.  Make a complete graph.

	x–intercepts:

	y–intercept:
	

	line of symmetry:


	vertex:
	

	domain:
	range:
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